Week 2 Homework Evens Answer Key

Homework #2 – P.5
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 in later problems we will factor this one step further
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96. your alternate instructions for this section were to make all negative exponents positive!!


[image: image16.wmf]÷

ø

ö

ç

è

æ

+

=

+

1

2

6

6

12

2

1

4

1

4

1

4

3

x

x

x

x


102. 
[image: image17.wmf][

]

)

7

9

)(

3

4

(

2

)

5

25

12

16

)(

3

4

(

2

)

1

5

(

5

)

3

4

(

4

)

3

4

(

2

)

3

4

)(

1

5

(

10

)

3

4

(

8

2

-

+

=

+

+

-

-

+

=

+

+

+

-

+

=

+

+

+

+

-

x

x

x

x

x

x

x

x

x


108. 
[image: image18.wmf])

1

)(

2

(

)

1

1

1

2

)(

2

(

]

1

)

1

(

)

1

][(

1

)

1

[(

1

)

1

(

2

2

2

3

+

+

+

=

+

-

-

+

+

+

=

+

+

-

+

+

+

=

+

+

y

y

y

y

y

y

y

y

y

y

y


114. 
[image: image19.wmf])

)(

2

3

(

2

5

3

2

2

4

2

2

y

x

y

x

y

xy

x

+

+

=

+

+


120. 
[image: image20.wmf]2

2

2

2

2

)

(

2

y

x

y

xy

x

xy

x

y

xy

A

+

=

+

+

=

+

+

+

=


126. to factor the difference between two squares, first take the square root of each square.  Call the results A and B.  Then one factor is the difference between A & B and the other is the sum; i.e. (A-B)(A+B).  For example: 4x2-9: 4x2 is a square, and its square root is 2x; 9 is a square and its square root is 2.  So factored, we get: (2x-3)(2x+3).
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Selected Problems Week 2

P.4
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Degree 3
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P.6.
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 Domain excludes x = -9 and x = 5
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